normalized X?

10

1

1

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

<o pTIpT > (Yo)

Ratio

072

0*3

[ normalized x? probability |

Prob(x2)

Entries 1 Entries
Mean
Std Dev 0.
Entries
Mean 0.
Std Dev
— 0.
Entries
Mean 0.
0.
0.
0.
0.
Entries 0. Entries
Mean Mean
: k!
=
. ©
: o
ar- 0.5]
2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
2
e DO _OTTgTAl STED: PTIO00 SraZperoaey
m—— DOM”pixelCPETemplate. s&e(g? pt1000 ela2p5m4[)0
w— DOQM”pixelCPETemplateCutChiSquarel0”step2_ pt1000_eta2p5to4p0
= DOM pixelCPETemplateCutChiSquarel5 step2 _pt1000_eta2p5to4pQ
— 3 _pixelCPETemplateCutChiSquare20_step2__pt1000_eta2p5to4p0
—

<op./p. > )

© 2 o o

Ratio

< X2/ ndf >

ol

pixelCPETemplateCutChiSquare30_step2__pt1000_eta2p5to4p0
1

iC

0 3
TP n (PCA to beamline)

1072

1 -1
AR(track, jetg)



	Contents
	Page 1


